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Lo 1T IR SAT MR AT EN T 5200 98800
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g AT THARBCEE AT 3400 64600
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FARAT KEMT KB FIRAAE AT 20000 51000
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HRIAT K& T KHERE AT 20000 51000
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FRAT KEMT KERIRFE AT 23000 50000
FRAT KEMT KA B % AT 0 50000
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FRAT KEMT KB RBH S AT B 28000 50000
R AT KEMT KEINEATENH 28000 50000
FRAAT KEIT KBRS 47 B 36000 50000
FARAAT KEMT KEFIRE AT 23000 50000
HRAT KEIMT KHEKIB AT 0 50000
FARAT KEMT KB AT EN 36000 50000
AT KEMT K e~ AT 23000 50000
FRAAT KET KB R IX AT ED S 0 50000
FARAAT KEMT KA R AT EN 36000 50000
HRAT KEMT KI5 H R ST ED R 0 50000
FRAT KEMT KB AT ENS 0 50000
FRAAT KEMT KT A K AT 0 50000
FRAAT KET KB L AT E 23000 50000
FARAAT KEMT KU AT 0 50000
HRAT KET KHEMN AT 0 50000
FRAT KEMT KEMIR AT E N 23000 50000
FRAAT KEMT K —IREE B A = AT E N 0 50000
FRAAT KET KA PR AT B 0 50000
FARAAT KEMT KB TAT 33000 50000
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FRAAT KET KERWAT 23000 50000
FARAAT KHE T KHEHX AT 0 50000
HRAT KEMT KB TR AT I X AT E N 23000 50000
FRAT KEMT KHE W AT 23000 50000
R AT KEMT KBS PR AT 0 50000
FRAAT KEMT KI5 2 b SATENV 23000 50000
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FRAAT V95T DY~ e o 2R B S AT I 20000 0
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R AT VY~ 47 DY — B 4T 0 60000
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IRy BRIEIMT BRI R AT ED R 4000 22000
I %%\ﬁ BRI AT BRifg AR AT EDV = 5000 26000
JRAAT i 1T PR HIL AT E M = 4000 24000
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IR oL 24T " T K AT 1680 6000
T il AT AT L S 4T 4800 6000
I HRAMT AT A L B[R 7k 2 AT 4800 12000
AT Hlor AT RS AT 1500 12000
e g T o L £ 1500 6000
I HAAT il 4T Hl X AT 1680 6000
I IRANT AT A L SCAT 1680 7000
v sl AT M 1680 7000
LT il 44T " S T 1680 7000
W4T U db AT E N = 4800 7000
LA T 4800 12000
4800 12000
4800 12000
12000
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— R AT ZE/AAT = MR WATE (B | MEFTAFE (F)
I RAAT LT R S AT 3600 12000
JRAAT LT ep N R S AT 1680 8000
I RAT LT Al R X R AT 1500 6000
IR LT I A = A 4800 12000
IR AT LT L 5K SR ST 1500 6000
I RAAT il T P SCATENE = 5400 12000
JRAAT LT ol By AT 1500 6000
I RAT LT ol ECE D AT 1500 6000
IR LT il = 24T 1500 6000
JRAT il AT AR S AT B & 5400 12000
I RAAT LT L SRR S ST AT 1500 6000
JRAAT LT L e IR S AT 1500 6000
I RAT LT R A S AT 1500 6000
IR il T Ol LB AT 1500 6000
JRAT AT R DU YD AT 1500 6000
I RAAT LT L BE e S AT 1680 7000
JRAAT LT NG Y IFa 1500 6000
JRIAT LIAT L3 AT EDI 10000 30000
JRAMT LIAT YL I3 AT B 10000 30000
JRAT LIAT VLNV S AT BN = 10000 30000
I RAAT LI I5HAT IR AT EN = 10000 30000
JRAAT LI I5MAT YL TARRT X AT 5 10000 30000
JRIAT LIAT LTS AT EN 18300 42700
JRAMT LIAT LIS AT = 17300 40100
JRAT LIAT a7 E N E 17300 40100
I RAAT LI I5HAT TP ATEN = 17300 40100
JRAAT LI I5MAT R AT EN S 17300 40100
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I RAMT 1L 5347 %miiiﬁ%ﬂ%  S———
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I HAT 44T wmﬁg%ﬁiﬁﬁﬂi o =
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i L %[JJJ;%?EZE'UTﬁik% 6000 16100
I HSMAT %W’\ﬁ 191*%1JJ§J;; g%izﬁgi@ m -
I HRGHT LA 7 mnﬁy*iﬂ%?w% = a
T ROAT FHYL AT BH‘JIBH%E’%ELE an =
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] IRANT FHYT 4347 rﬁaaﬁaﬁj{ﬁgﬂ% O -
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AT BEYT A 4T mmAml%iﬁ 0 -
I HAAT FHYL AT BEI‘II%H iﬁ 0 =
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— R AT ZE/AAT = MR WATE (B | MEFTAFE (F)
I RAAT FHYL /47 PHY YT AT 0 20000
JRAAT FHYL 47 BHYT e 40 2 AT 0 20000
JRIAT FHYLAMAT FHYL 44 P S 4T 0 20000
AT BT 4347 BT BH AR AR S AT 0 20000
JERAT FHYL AT PHYT PH 4R I AT 0 20000
I RAAT FHYL 47 BHYT 254 AT 0 20000
JRAAT FHYL 47 BHYT B AT 0 20000
JRIAT FHYLAMAT FHYTRH 2R AT E Y = 60000 30000
JRAMT FHYL AT BHYT =BT X 24T 0 20000
JRAT LT BT AT B 90000 80000
I RAAT BT BT — AT ED 10000 50000
JRAAT BT i%‘?lﬁllm{%jiﬁ 8000 32000
I R AT BT AT i%‘ililﬁéﬁzzjzﬁ 8000 32000
JRAMT LT BT SL AT ED 10000 35000
JRAT LT EYT O AT 10000 35000
I RAAT BT BT 4 W SAT 8000 32000
JRAAT BT BUTIR S AT 8000 32000
JRIAT LT BT S — S AT BV 30000 30000
JRAMT LT BT S~ AT +|3 10000 40000
JRAT LT BT BEVT S AT 10000 50000
IR AT WL 4T /%/Il_@%%%/ﬁﬁbsjzjzﬁ 10000 35000
JRAAT BT LT R MBI AT 10000 35000
JRIAT LT VT 5 )1 5 A e AT 10000 35000
JRAMT LT BE AR ] AT 10000 40000
JRAT LT BT AR AT 5000 20000
I RAAT AT %44 AT B 42000 158000
| RAT BT A P AT Y 20000 80000
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— BT — AT W AR 44 ARG BASE (B | M LEFRAFE (B
I RAMT AT AT AT B = 20000 80000
I RAMT AT P AL AR AT B 5 20000 80000
I RAMT AT S ATE = 20000 80000
IR AT A B M AT N 20000 80000
I RAMT AT AWM AT BN 20000 80000
I RAMT AT A AT 8000 32000
I RAMT AT A AT 2000 18000
I ROMT HERAMT I — AT EL 5000 32000
IR AT 2 OO M AT M B 5000 32000
I ERAMT AT 2 DS M AN B AT 0 17000
I RAMT HERAMT 2 P AT N 5 3000 21000
RS T MDY AT HE DY 22 7 S AT 0 17000
I ROMT BT BRI S S AT L 3000 21000
IR BT 2 A RS AT Ik 3 3000 21000
I ERAMT AT BT T AT E A 3000 21000
I RAMT HERAMT P T AT I 5 3000 21000
I RAMT AT MR AT 3000 21000
I ROMT BT B P B AT 0 17000
IR BT B R AR AT 0 17000
I ERAMT AT B PRI SRR AT 0 17000
[T HERAMT o A H WS AT 0 17000
I RAMT HERAMT IR AT E 3000 21000
I ROMT BT B A B 4T 0 17000
IR BT PR B S RIS AT 0 17000
I ERAMT HERAMT B K T X AT 3000 21000
[T HERAMT MR A AT 0 17000
T HERAMT 2 Do — B AT 0 17000
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— & AT — AT A 5 44 FK ARG BASE (B | M LEFRAFE (B
T HERAMT 2 MR AT 0 17000
T HERAMT 2 P B AT 0 17000
[T BT IR MTENV 71000 34000
[T AT B PRI AT 0 17000
T B BRAMT B PR PEYT AT 0 17000
[T HERAMT B PR e R AT 0 17000
T HERAMT DN S i 0 17000
[T BT 2 PO AT 0 17000
I IRTAT TG AT B AT ED S 198000 52000
T BT BB AT 0 30000
I RAMT HIEAT i 6 A STAT 0 20000
T I MT ISR AT EE 0 40000
[T T IR IR X AT 0 30000
[T T S 376 i X S AT 0 40000
T AT i 7 {8 (X V3 S AT 0 10000
T I MT S A7 A S AT 0 40000
T I MT i A A S AT 0 20000
[T T I AT 0 40000
[T AT i 7 M S AT I B 0 40000
T BT Vi e RH L STAT 0 30000
[T I MT T T AT E 0 30000
I RAMT HEAT BRI AT 0 40000
[T BT B BH AT E W 80000 140000
[T BT B BHE T AT E 50000 70000
T BT B BRI AT E 2 40000 50000
[T BT B BHR R AT 30000 50000
T BT JB AR 7 AT = 20000 30000
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— R AT ZE/AAT = MR WATE (B | MEFTAFE (F)
I RAAT W 1T 8 BH R S AT EDI 20000 30000
JRAAT 1T FEPH AR L AT E M= 100000 150000
I RAT =IFAAT ZIE AT ED 58000 48000
JRAMT BIEAT VPR AT 2000 12000
JERAT =ESAT ZVEWIX AT 2000 12000
I RAAT BT LR AT 2000 12000
JRAAT =IFAAT VTR AT 2000 12000
I RAT BT AT AT 2000 12000
JRAMT BIEAT IR Z AT ENE 5000 20000
JRAT =ESAT SV AT 2000 8000
I RAAT ZIEAT SRR ATENE 15000 35000
JRAAT =IFAAT VB NIRRT 2000 12000
I IRAT =IFAAT 2V SR AT 2000 12000
JRAMT VRAT B RS AT 2000 12000
JRAT =ESAT CIEHD AT BN = 15000 35000
I RAAT =IFAAT ZVEHTPEIRIX AT 2000 12000
JRAAT =IFAAT LRI M AT 2000 12000
JRIAT ZVRAT VAR S AT E Y 15000 30000
JRAMT VAT VAR Ol S AT 2000 12000
]I AT MALAT [ A SR SEAT 0 6000
[ MAMT MM AT LN S & 0 12000
[ M T MM AT M AT E N 8000 56000
]I AT AL AT [N 7 B AT 0 12000
]I AT MAL AT I BT AT 0 12000
[N AT ML AT [ ES AT 0 6000
[ MAMT MM AT I A S S AT 0 6000
[ MAMT MM AT IR AT 0 12000
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—EoAT ZE/AAT = MERZTABE () | MEBAFE (HO
]I AT RWAT LN R SAT B = 20000 50000
[ M AT FIREAT LB S AT 0 25000
]I AT RIWAT N e AT 0 25000
JPMAHAT AT oM =T e 17000 63000
N AT B XUT [ R AT 4000 17000
[T AT I ST 4000 17000
JIMA AT ¥ U7 MR AT 6000 24000
]I AT 5T [N KT B AT 3000 15000
JMAHAT R AT [N ZEBE AT 1600 6400
] Mo AT SR AT [N ZR [ AT 3200 12800
JMAAT SR AT I R S AT EDI 6000 24000
JIMA AT SR AT [ A A e S AT 1600 6400
]G AT R AT ImIES-SZii 2000 8000
JMAHAT R AT [ B R SAT 2000 8000
] Mo AT SR AT [IHIR AT 1600 6400
JIMA AT SR AT IR SAT 3200 12800
JIMA AT SR AT ISR AT 1600 6400
] AT R AT [P AT B AT 1600 6400
JMAHAT R AT P R 30] Tb bel 37 47 2000 8000
]I AT R AT [CINBEE AT 1600 6400
JMAAT W AT [V AT 7500 30000
I INAAT eI AT [ R B S AT 5500 22000
[~ AT HEIHEAT [ MAE ST AT E 12000 46000
JINAT AT [N PR 28 AT 2000 10000
N AT AT MR AT 3500 14000
JMAAT W AT I TONE 3500 14000
Mo AT R AT PN AR RIS AT 4000 18000
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— R AT ZE/AAT = M RIGTABE (BO WABE (KO
|G AT T AT [N AR A AT 4000 18000
| Mo AT R T [ A T AT 4000 18000
[~ AT R ST [N BN 8000 24000
JINAT T AT [ EA A SZAT 4000 18000
N AT T AT IR AT 4000 18000
JIMA AT R ST [N AT 4000 18000
JIMA AT R T [ R AT 2000 4000
|G AT ALY IR A AT EDI = 31000 124000
JINAT WAL AT [Pl P i AT 1000 4000
N AT MAESAT ML AT 1000 4000
JMAAT WAESAT MR35 34T 1000 4000
| Mo AT WAESAT [ AR AT 1000 4000
]G AT ALY [P RE HI B AT 1000 4000
JINAT WAL AT M E = HISAT 1000 4000
N AT MAESAT ML E i AT 1000 4000
|G AT WAESAT 7N Fap 3 S AT 1000 4000
| Mo AT WAESAT [N ESI AT 1000 4000
] AT ALY [P AT 1000 4000
JINAT WAL AT [ R S B AT 1000 4000
N AT MAESAT M RS AT 1000 4000
JMAAT WAESAT [INZREE AT 1000 4000
JIMA AT JHHT AT [N AR XR34S AT 3000 14000
]I AT JHET AT MR AT 4000 14000
JMAHAT JHHT AT I B e B B AT 3000 14000
Mo AT Ji B S2AT I B AT B 50000 80000
JIMA AT JHHT AT IRl B S&i 3000 14000
I INAAT JE H AT [ BT AT 4000 14000
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— & AT — AT W AR 44 ARG BASE (B | M LEFRAFE (B
I HAT R BT AT Lol —BRSEAT 4000 14000
N AT JR BT AT POl — B AT 3000 14000
AT Ji B AT LM ZR I B B AT 4000 14000
I MAHT i AT I AR VN T B ST AT 4000 16000
AT 7 AT | MU B S 4T 3000 12000
[N AT 5 AT [ U S AT 3000 12000
AT T AT MBI AT 13000 52000
AT i AT [ HFR T B AT 4000 16000
M AT 7 AT LM B S AT 3000 12000
AT r'i‘?f/l‘éj\ﬁ | BV A AT 4000 18000
AT FII T MBIV AT B 5 10000 30000
N AT rﬁ«mn N B Y4 I B AT 4000 18000
AT RV AT MBIV K B SEAT 4000 18000
I MSHT RV AMT MV KBS AT 4000 18000
AT RV AT MBIV AR SAT 4000 18000
AT P AT | AT Y 80000 60000
N AT P AT Pl N\ B AT 0 40000
AT FiE S AT I AR R B AT 0 50000
AT FiE S AT | MR Y28 5 S AT 0 20000
I HIAMT P AT I HRAE ST AT 0 40000
AT AT MBI AT 17000 13000
AT AT M AT 1500 13000
AT Wi AT I MBI K2 AT 1500 13000
AT Wi AT [ B FE e e S AT 1500 13000
AT Wi AT I MBS RS AT 1000 13000
JIN AT B AT [CMARESAT 1000 13000
AT Wi AT | AT AT 1000 13000
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— R AT ZE/AAT = MR WATE (B | MEFTAFE (F)
I M AT BEAT IO A X SCAT 1500 13000
JIHAT WA SAT J NS SRIEIT AT 1000 6000
]I AT I SAT I B IR SE AT 2000 10000
[N AT BSAT SIS AT B 16000 50000
]I AT I SAT [N B AT 2000 10000
I INAAT AT MG I A AT 1000 6000
I INAT I SAT N B AT 1000 6000
]I AT I SAT MBI A AT 1000 6000
J M AT AT MBI Z AT 2000 10000
JIMA AT FiR AT M 75 A R S AT 8000 35000
JIMA AT FR AT [N SR AT E N = 20000 55000
JIMA AT FR AT LN o5 Ao O 52 AT 8000 35000
JIMA AT FN AT TN TS A eI 134T 8000 35000
JMAHAT FiR AT [P AR S AT 4000 20000
]I AT FiR AT I S E 4000 20000
JIMA AT FR AT M 75 A4 5 VS B S AT 4000 20000
Mo AT Fi ST I S A A AT 4000 20000
J Mo AT Jb 5% AT M ERESAT 2000 40000
[T BT ST LB =R A 40000 52000
] Mo AT Jb BB AT AR ST 2000 40000
JIMA AT Jb 5% AT I SN 1000 30000
JIMA AT Jb 5% AT M ERIT 39 K B S 47 3000 30000
NG AT I8 ST N F AT 20000 80000
JMAHAT it ST [P YR AT 8000 32000
]I AT it ST [ EETAT 5000 20000
JIMA AT I8 AT MK AT 5000 20000
JIMA AT s AT [t AT 5000 20000
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— R AT ZE/AAT = M RIGTABE (BO WABE (KO
Mo AT AT M PR SAT 5000 20000
Mo AT AT I S AT 3600 14400
[N AT IR AT [ HHICRSAT 3600 14400
JNAAT AT LN PR AT 4400 17600
JINAAT AT I MR AT E MY = 5200 20800
JIMA AT W7 A H AT 2400 9600
[ MAMT IR AT M B IR A AT 3600 14400
[ AT SABSAT [N B B AT 2400 9600
JINAT I SAT G B AT 3600 14400
N AT I SAT MR EAT 2400 9600
Mo AT WS AT M BERSAT 2400 9600
JIMA AT W=7 I N K RIAT 2400 9600
JINAT I SAT MG AT 3600 14400
JINAT I SAT M NFISZAT 2400 9600
N AT AT M EB AT 2400 9600
JIMA AT WIWEAT I R AT 3600 14400
| Mo AT Tl KIE AT L T KBS ATE 24000 96000
N AT Tl KIE AT [ E AT 4000 20000
JINAT Tl KIS AT [ MES AT 4000 20000
N AT Tl KIE AT [P R AT 4000 20000
JIMA AT Tl KTE AT IR SAT 4000 20000
JIMA AT Tl KIE ST [ RFESL AT 4000 20000
[~ AT fAE AT M TS AT 16000 64000
JMAHAT HEAT I K ZE AR AT 2000 8000
N AT hESUT M E AT 2000 8000
JIMA AT FEAT [N ER AT 6000 24000
| Mo AT HEAT IR SAT 6000 24000
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— R AT ZE/AAT = M RIGTABE (BO WABE (KO
|G AT FEAT [ AT 8000 32000
| Mo AT O AT I B AT E D 12800 51200
JIMA AT O AT M AEWSAT 4000 16000
I IMa AT B AT MK SAT 3200 12800
]I AT BT [ S AT B S AT 3200 12800
JIMA AT B AT oML AT 4000 16000
JIMA AT B ST ISR AT 3200 12800
JIMA AT B ST [P &~ AT 4000 16000
I IMa AT O AT IR EE AT 3200 12800
JIMA AT B ST Lo K aE AT 3200 12800
JIMA AT B ST [N AR AT 3200 12800
JIMA AT 75 AT ML ~AT 800 3200
JIMIMT W5 AT I T AT 48000 72000
JMAHAT 75 AT [ B AT 800 3200
] Mo AT BT AT IR PN I 1200 4800
JIMA AT 75 AT [P BR AT 800 3200
JIMA AT 75 AT AR AT 800 3200
] AT '*'%%Ezﬁ [ B R R AT 800 3200
JINAT 75 XAT [ Bt AT 800 3200
Mo AT %ZEPE%& LN B AT 16000 64000
JMAAT TR P B SCAT [ ZR RS AT 2500 10000
]I AT U AT [N K BB S AT 3000 12000
N AT JH B % S AT IR SAT 2500 10000
JINAT JH B % S AT [ INAEZ R Y5047 2500 10000
N AT Pl B ST MR AT 2500 10000
JMAAT TR P B SCAT M0 B BT A S S AT 3000 12000
| Mo AT TR P B SOAT [T 2500 10000
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LS R

— AT —EHAT PP RS A R FARGRABE (MO | WERLHE HO
[T Gl S &) IRb i 5 2500 10000
o AT EBCh AT I M EAR AT 3000 12000
[T EH AT I HAEAS 2 3 K SEAT 4200 16800
[N AT 11T [ HMAEAH L AT 2600 10400
[ oAT TEHSAT I P AEABRTUE 24T 4000 16000
[ Mo AT 1E#RGAT I M AEHRRT AT 4000 16000
[ AT TEH AT I AL AR X AT 2600 10400
[T EH AT I M AE#R AT E N 7400 29600
[T TEH AT LA 7V AT 2600 10400
I AT EH AT e A AAT 2600 10400
[T TEH AT I HAE AR o AT 3000 12000
[ AT TEH AT e AT 4000 16000
[T EH AT I HAEAS DY AT 2000 8000
[T TEH AT I LA AT 4000 16000
I AT TEH AT I AL B 34T 3000 12000
[T TEH AT [ PHAEA G i AL B S AT 2000 8000
[ AT KA AT KA S AT 32000 40000
[T KA S2AT IS 5 5000 25000
[N AT KA AT I s AT 6000 25000
I AT KA SAT IR LA B AT 4000 24000
Mo AT KA AT [ P A B S AT 4000 10000
Mo AT KA S AT I — G AT 5000 10000
[T KA 54T R B AT 5000 20000
[T KA SAT ISR AT 5000 8000
I AT KA SAT [ S b AT 4000 8000
[T =T [N FE AT E 18000 43000
[T ZIEAT [N B AT 3000 13000
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— R AT ZE/AAT = M RIGTABE (BO WABE (KO
|G AT = AT [ A PSS AT 2000 13000
| Mo AT = AT [ 7E S B AT 2000 13000
JINAT = ST I E ST 1000 10000
JINAT = ST M =47 ST 4000 16000
N AT = WL AT | AEEBE AT 3000 13000
[N AT zIl AT I pNL S 2000 13000
| Mo AT = AT IS =R SAT 2000 13000
N AT =L SAT [P SAT 3000 13000
JINAT RISAT Ml AT 2700 14000
N AT KITSAT [ B SAT 2800 15000
JIMA AT R AT [ AT 1800 9000
| Mo AT R AT [N R SATE N = 28000 96000
]G AT RIAT I pNES 1800 9000
JINAT RISAT JHAEREE T K2 AT 1800 9000
N AT R AT M AT AT 1800 9000
JIMA AT R AT [N IEAE AT 1800 6000
I INAAT R AT [ AT 1100 3000
N AT R AT IEIE A SESTn 2200 11000
JINAT RISAT M BB R AT 2200 11000
N AT J N RIE AT [ HVE AT 3000 15000
JIMA AT ]I RIE AT [N AEAN AT 3000 15000
Mo AT N RIE AT SN R AT 15000 30000
| AT ] KIESAT [N AT 3000 15000
JINAT ] RIE SCAT MK AT 3000 15000
N AT J N RIE AT M AR AT 2000 13000
JIMA AT ]I RIE AT M BRI 45 5 AT 2000 13000
I INAAT J N KIE AT [N EIT AT 3000 15000
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— R AT ZE/AAT = M RIGTABE (BO WABE (KO
JIMA AT ]I RIE AT [l R AT 3000 15000
JIMA AT ]I RIE AT LIRS AT 2000 15000
[~ AT [l 4 6 AT T [ A B S AT M 27800 58000
JINAT [ 4 B SAT [T e R AT 4000 32000
N AT [) A8 % AT MR RITE AT 3000 20000
] M oAT [ 4 B AT [T R PSS AT 4000 32000
| Mo AT [ 4 2 AT [T 54 AT 3000 23000
N AT [Fi) A B SAT [ ZRVD B AT 2000 15000
JINAT [ 4 R SAT MRS AT 8000 6000
]I AT [ 4 2 AT [N EF I AT 2000 8000
JMAAT [ 4 B AT [N EE AT 1600 3000
| Mo AT [ 4 2 AT I E b AR % AT 3600 30000
JINAT [Fi) A B SAT [ FE N IE AT 2000 15000
JINAT [F) 4 T % AT [ M R AT 2000 15000
] Mo AT RPHEAT IR EN 42000 32000
|G AT KPR [N IG R AT 2000 12000
| Mo AT RPHESAT [ EE A AT 2000 8000
N AT RFESAT B 2E AT 2000 12000
JINAT RFRESAT M HE AT 2000 8000
N AT RPBEAT | BRI SZAT 2000 8000
JMAAT RPHESAT [P AT 2000 12000
| Mo AT RPHESAT LD AN AT 2000 12000
]I AT RPHESAT [ b e AT 2000 8000
JINAT RFRESAT | B AT 2000 8000
[~ AT B=SUT M= FATENEE 9000 36000
JMAAT =37 MR AT 3000 12000
| Mo AT =T [T~ AT 3000 12000
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JIMA AT =37 [R5 4 AT 4000 16000
JIMA AT =37 I BRSO AT 3000 12000
[~ AT JIIE AT [T A AT E S 4000 16000
JINAT & B AT [ B IS AT 2000 12000
N AT & AT | FE BV AT 2000 12000
] M oAT & H AT [N B ENE = 48300 158000
[ M AT 8 AT [ MR AT 2000 12000
N AT & B AT [ FE A AT 4000 12000
JINAT & B AT I B RS AT 2500 12000
N AT & AT I B M S AT 2500 12000
JMAAT & H AT | R A A A 2 e AT 2000 12000
Mo AT o ST [ 7 B T e B bl AT 1500 6000
JINAT & B AT [ F B S AT 2000 12000
[T o ST [ 3 B R AT A S 1 AT 1200 4000
N AT & AT IS AR AT 2000 12000
|G AT & H AT [ M 2 BV TR AR B AT 2000 12000
| Mo AT T M 3 B 4 W AT 2000 12000
N AT & B AT I B8 R R ST 2000 12000
[T H = ST N E 7 AT BN R 17400 69600
N AT H 2z 8% AT [ B el P AT 3600 14400
JIMA AT H 2 AT MR AR AT 3200 12800
JIMA AT H 2 AT [N A3 AT 3600 14400
N AT H 2= 8% AT [P e AT 3000 12000
JINAT H 2z 8% AT M =T AT 3000 12000
N AT H 2z 8% AT [ AEE AT 3000 12000
JIMA AT H 2 AT [N ARA AT 3200 12800
| Mo AT LUWHEATFRXAT | MERX AT 4200 16800
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|G AT GUHEARITRIX AT T MIF R X AT E = 8000 32000
| Mo AT LUWHEATFRXAT | M EAT 3500 14000
JINAT LUWHATFRXAT | M EAT 3500 14000
JINAT GVHEARITRIX AT T PR FITE R X K S AT 2200 8800
]I AT STHARITTRX AT | MR 4T 2200 8800
] M oAT LUWHEATFRXAT MK AT 4800 19200
JIMA AT SUHEARTFRXSAT M AT 1600 6400
[~ AT B SUT LA — AT 25000 64960
JMAHAT U7 [ et KIS AT 1000 15680
] Mo AT BT |7 2 ST 1000 15680
JIMA AT — AT [TV R AT 1000 15680
Mo AT HEE ST SN EN AT 40000 20000
RINAT ELIAT ST EN 12000 96000
WINPT A & AT A B AT EDIV 11000 95000
WINPT KITUAT AR SATE R 11000 95000
WINPT AT BN AT BV 30000 100000
WINPT A HH SAT A H AT EDIP 12000 96000
WINPT KT A 7K SCAT EDIV 9000 73000
EINAT T I AT fE T e SCAT DV 10000 94000
ERINHAT 15 bl 7 X AT AR AT 10000 72000
w17 WS AT S AT B 8000 74000
I AT AT AT DV 8000 74000
RIYNHAT MK ST B 5 AT E L 8000 74000
RINGHAT 21 [ AT 21 [ S AT E R 12000 96000
RINAT HERRSAT PRETAT 10000 94000
pne ]| e 34T o 5 SCATED 12000 96000
RINAT s AT Je e AT EN 10000 96000
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I AT ALl ST il % — 12000 96000
Y AT ENY
AT LA B S A7 3 2008 26000
I T i 537 B A2 oo 73000
B AT IS B 10000 94000
RN A LARE &} b 1S A7 o~ 0090
Y1 {7 R AT RS ATE AL p— 20000
YT G " p—
RIS 4T e P =
R i1 BT AT —— 4000
izl T ST pro— L
ﬂ:i}lléﬂ 4T P — 10000 94000
AT S AT [ —— 2000 73000
VIR \ 4 N P =l
/ﬁﬂllﬁ\ 7 AT ey 17 10000 92000
/4 S
T BIER AT B 2000 72000
Pl AT SERST | haemg S— 32000
U154 L4yt L B % 7 = 12050
PANG7 == S
TEE: EL b7 B b 4 0 2000
oAy B 14347 \ 0 50
il TR Y ; .
/ [ o 4347 L P S £ 2000
Va7 B ep 47 1000
i i1 E BT A . L0
N fT e S B T S AT 10000
ParAT B 4047 0
f7 L B AT 5 L0000
P4 47 4347 S 0 100
i i LA B {5 YOkt 7 0 o
. e = A L4 2 2000
A = 0
Dll)l:jj\fT Wﬁﬁﬁiﬁ AR AT 25000 o
/# / P P
AT BB AT AR KB ST 45000
7000 25000
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VU547 FERH 54T 188 B i AR SAT 0 5000
VU)o AT T8 1H 4T 8 B EP SRR AT 1000 7000
VU547 1HEH 4T SN 0 5000
Va7 FERH 44T 18 3H 7Y I8 AT 0 5000
ParAT TEH AT PERH ST AT 0 5000
P9 )47 T8 RH 4T 8 IH TR A AT 0 5000
VU)o AT T8 1H 34T f8 B I R (X AT 0 5000
VU547 FERH 54T 1 5 % BH 37 AT 17000 25000
Pl AT 1T o 9 R YT P % 4 B Ak 0 5000
VUo7 FEBH 44T 1288 8 i el S AT 0 5000
P9 )47 T8 RH 4T 1 BH SR S2AT 0 5000
VU)o AT T8 1H 4T B IR AT 1000 6000
P9 )47 T 1H 4T A SH IR e S AT 1000 7000
Va7 FERH 44T 18 BH 3 Y] S7AT 0 5000
VU)o AT T8 IH 4T 18 BH AR YR AT 0 5000
VU547 FERH 54T PVLAT 3000 10000
VU547 FERH A AT AT 5000 15000
VU547 1EEH 4T A AT 0 5000
Va7 FERH 44T G B R AT 0 5000
VUo7 FEBH 44T UL B AT 0 5000
VU547 FERH 54T TR B AT 0 5000
VU547 FERH A AT W AT 2 PR AT 0 5000
VU547 FERH 54T B =AT 5000 15000
Va7 FERH 44T A BN b AT 0 5000
VU)o AT T8 IH 4T AT T30 4] B % AT 0 5000
P9 )47 T8 IH 4T AR Dl B S AT 0 5000
VU547 FERH A AT AT 5000 15000
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PNsraT PIPNAT AR AR AT 4000 4000
VyNsraT PIPNAT PR AT 4000 4000
oA VM AT PIMITBH AT 5000 5000
s r VM AT PR IE AT 4000 4000
Vi sr AT VM AT PN L AT 4000 4000
PNsraT PINAT P IRIFE AT 4000 4000
VyNsraT PINAT PIPGE AT 5000 5000
oA VM AT Y E X AT 5000 5000
sy VM AT YIS AT 5000 5000
VoA VM AT VP G AT EDIV 40000 20000
o4 VI AT NI AT 6000 6000
VyNsraT PINAT PN B FAT 4000 4000
VoA VM AT P EL RIS AT 4000 4000
vaNsrAr FINIAT P ETL AT E = 4000 4000
VyNsraT PN AT VN BUK Y S AT 4000 4000
VU AT PN IMAT P AT E 4000 4000
VoA JE LT JE W2 WL SATED = 0 20000
)i AT JE LT AP AT 0 15000
sy JEILAT JE L S AT B = 0 20000
VoA JE LA AT JEUAFE AT EN = 8000 18000
o4 JE LT JE WA AT B 22000 36000
VyNsraT ENEx JE L AR AT 8000 18000
VynsraT JE LA AT JE L S2AT 0 15000
sy JEILAT JE A RITE AT 0 10000
VyNsraT HHMT 443 BH e M AT 800 7200
PNsraT AT 47 BH I AT 800 7200
VyNsraT AT ZRPHIRIL AT 800 7200
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PNsraT AT 45 BH BRI i AT 800 7200
VyNsraT AT SBEHPE 1L AT 900 8100
VynsraT HH AT 45 B {203 AT 800 7200
VNsraT ZRFH AT 2R BH AR A AT 800 7200
VyNaraT HHMT 4B BHAR e 24T 800 7200
P9I AT BH AT 4RBHF 0 AT 800 7200
P AT RBH AT ARBHIM IR AT 800 7200
P AT RBH AT BB} 2 S AT L X Sy #EAL 800 7200
P AT HRBH AT SR PHRL I AT X 5 FR AL 800 7200
VyNsraT HHMT SBH KB AT 900 8100
PNsraT AT SR BT e A B S AT 800 7200
VyNsraT HH AT —EWH AT 800 7200
P AT RBH AT SBBATT i 20 ST AT 1000 9000
VaNsrT M AT SRR NS B 900 8100
VyNsraT HHMT 25 BV Ty W B AT 800 7200
PNsraT AT S PHY T EE VT AR B S AT 800 7200
P AT HBH AT 4P = B M AT 900 8100
VynsraT ZRFH AT 4 BH 22 M SCR T8 AT 800 7200
VaNsrT ZRFH AT 2R BH S SAT 1800 16200
VyNsraT BBA AT 443 BH I (el 57 4T 1000 9000
PNsraT AT 4B H AT e AT 900 8100
P AT PR AT ARBHAE AT 800 7200
VynsraT AT SRPHIEAL AT 2800 25200
VaNsrT M AT 4B BH EE ] AT 900 8100
VyNsraT BBA AT 445 B0 =8 S AT 2600 23400
PNsraT AT 2R BB 2B AT BN = 1800 16200
P AT PR AT AR BH AL 2 SAT 5 — S FEAL 900 8100
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PNsraT AT SRPHBT AT 1800 16200
VyNsraT AT 2R 2 B AT 900 8100
VynsraT ZRFH AT 2 BH 22 AT EDI = 900 8100
P9NIsrT ZRFH AT 45 BH 22 M TR AT 800 7200
VyNaraT HHMT ApRHAE) AT E D = 800 7200
PNsraT M AT 2R BHYT Y S AT EDI = 1800 16200
VyNsraT AT 4 BH Ty i A = AT 900 8100
VynsraT AT SR PHVEIM K ZE NS S0 AT 800 7200
PyNIsrT M AT ZRPHVLI =& AT 800 7200
P AT UBBH AT 43 BH B S AT 1000 9000
PNsraT AT 2 BH -~ AT 1000 9000
VyNsraT HH AT P =B AT EDE 1800 16200
VynsraT HH AT SRPH — & AR S SO AT 800 7200
P9NIarAT M AT 4R PHEE AT 1000 9000
Vo AT 4R AT ZRBAVT e AT B 1800 16200
PNsraT AT SRPH 47 DIV 1800 16200
VoA AT R ANR AT 3000 7000
VynsraT AT B oA B S AT 3000 7000
P9NIsrT AT A 70 A T B AT 18000 42000
VoA AT MR AT 3000 7000
PO AT A 78T P AP A AT ENL 3000 7000
VyNsraT AT B 78 50 AT B 22200 51800
VynsraT AT i 70 22 B AT 3000 7000
Mo AT 7R AT B 78 B S AT B R 3000 7000
Vo AT FA FE AT 70 L AT B 3000 7000
P47 AT AT P 7 AT 3000 7000
POoAT R ST B Rl AT BN 3000 7000
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PNsraT BEAET ZE b A bl % AT 1800 7200
VyNsraT BRAET BN RBSAT 1800 7200
VynsraT BEAET B AN AT 1000 4000
P9NIsrT BT B RUE O AT 2000 8000
VyNaraT BRAET B AR AT 1400 5600
PNsraT AT AL R A VISAT 1400 5600
VyNsraT BRAET B AR AT 1400 5600
oA 2R AT BRI AT 2000 8000
sy 2R AT BRI AT 1400 5600
VoA 2R AT AN AT 2000 8000
PNsraT BRAET BRG]0 AT 1400 5600
VyNsraT BRAET B RIS R AT 1800 7200
VynsraT BHAAT BRI OKIE AT 1800 7200
V9o r 2R AT BRI AT 1800 7200
VoA BT B AESTLA P AL 1400 5600
PNsraT BEAET B b A0 P AT 1400 5600
VyNsraT R AT BRI B ST 2400 9600
VynsraT BRAET e AE R AT 1800 7200
WAy BBty R ARG AT E NS 2000 8000
ParAT BB AT B K B WA AT 1800 7200
PNsraT %Eﬁ%ﬁ BT AT 1800 7200
VyNsraT AR B A AT EN 2400 9600
oA W?Iéj\ﬁ T N S2AT 4500 10500
sy WILAT WYL ST 3600 8400
VoA WILAT VL% e AT 2400 5600
PNsraT WL AT WYL ATV AR o) B AL 2400 5600
VyNsraT WL AT PIT R TAT 2400 5600
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PNsraT WL AT PIT RVR AT 3000 7000
VyNsraT WL AT WITEH S AT 2400 5600
oA WILMT P YT P ARRT X 24T 2400 5600
P9NIsrT WILMT PR AT 2400 5600
Vi sr AT WILAT WYL AT E N = 4500 10500
o4 WILMT Beb AT i o FE AL 2400 5600
VyNsraT WL AT B AT ENEE 3600 8400
oA WILMT B AL AT 2400 5600
sy WILAT ZeK e AT 2400 5600
VoA WILAT ST AT ENE 3600 8400
PNsraT WILMT JEZE B I AT 2400 5600
VAo AT WL AT JARZE AT T AE e A B AL 2400 5600
VynsraT WILAMT BB AT ENE 3600 8400
V9o r WILAT B B 4T B AT 2400 5600
VoA WILAT B B p AT 2400 5600
PNsraT WILMT B BT AR AT 2400 5600
VyNsraT B AT BN AT 600 2400
oA M AT AN AR O AT 600 2400
sy EM AT 5 HEVE AT 600 2400
VoA EM AT AN AT 600 2400
PNsraT B AT PN = B AT 600 2400
VoA EM AT IR SE T AT 600 2400
oA M AT RN AT 600 2400
sy EM AT HHER1T 600 2400
VoA EM AT EE AT 600 2400
o4 EM AT KT W4T 600 2400
VyNsraT IEMAAT KA AT 600 2400
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VU547 B AT K71 eR £ 4T 600 2400
VU)o AT EM 4T BN O AT 600 2400
VU547 B AT EPUBIE AT 600 2400
VU937 B AT FEAC 134T 600 2400
VU547 B AT I &S AT 600 2400
VU547 B AT BT E N E 6400 25600
VU547 B AT IS I 32 AT 6400 25600
VU547 B AT I K ZEul AT 600 2400
VU937 IS4 AT B L FERE AT 600 2400
VUo7 BN AT BN TG AM T X AT 600 2400
P9 )47 IEM AT BN IS AT 600 2400
VU)o AT IEM AT IEMREH 5 S AT 600 2400
VU547 B AT BN K TEH AT 600 2400
VU937 B AT BN AT IE AT 600 2400
oty BT KU SATE N 2000 8000
P9 )47 M AT WHSITENE 2000 8000
VU)o AT IEM AT HEAEEE ) YA 600 2400
P9 )47 M AT BENSATENE 2000 8000
ya)nsrir BT FE AT ENE 2000 8000
VUo7 BN AT BRI SZAT 2000 8000
P9 )47 IEM AT T AT 2000 8000
VU)o AT ]I AT | CER AT 2000 5000
P9 )47 ] ICAT I ILERE AT 2000 6000
P )1 AT ] ICAT | IC AR A AT 2000 5000
)i Ar | e AT LIRS AT E 2000 6000
U1 4347 | IUIHAT [ JCEIR AT 2000 5000
VU)o AT ]I AT | Iuar AT E 10000 50000
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PNsraT | AT I a2 AT 2000 5000
VyNsraT | ua AT [ ouS AT 2000 6000
VynsraT I AT |G AT 2000 6000
P9NIsrT I uaAT [ e R X AT 2000 6000
VyNaraT | uaAT I E ) AT 2000 6000
PNsraT | AT [t B SAT 2000 5000
VyNsraT | ua AT | CE AT 2000 6000
VynsraT | IuIHAT [ e HESAT 2000 6000
PyNIsrT | uaAT | CHE AT R ST 2000 6000
VyNsraT | uaAT [ CHERE S AT BN = 2000 6000
PNsraT | AT T nH AT 2000 6000
VyNsraT I ua AT [ JGHA AT 2000 5000
VoA SRILAMT SRR AT 4000 16000
V9o r SRILAMT SRS AR AT 5000 20000
VyNsraT R AT SR ta AT 5000 20000
Vo4 SRILAMT SRINFERE AT 3000 12000
VoA SRILAMT RN FER AT 12000 48000
oA SR AT SR FE AL 3600 14400
sy SRILAMT SRl LA S AT 1000 4000
VoA SRILAMT SR M AT 4000 16000
o4 SRILAMT SRS AT EE = 2400 9600
VyNsraT K AT R SIT AR KB AT 1200 4800
)i AT AR AT LN S ATEN LS 3000 12000
vaNsrAr AR AT el kR S ATENE 3000 12000
VoA SRILAMT SR Lyl S W 4T B AT 1600 6400
o4 SR AT Oy JE 1B IX AT 800 3200
VoA SRILAMT SR Ly S AT Y A 2000 8000
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Vo4 SRILAMT SRV S AT ENY 3000 12000
VoA SRILAMT SRl OB AT EDEE 3000 12000
VynsraT SR AT SRR ST 1200 4800
s r BETT BT AT ED 12000 22000
P AT BT AT ZTMEIAT 3000 8000
PNsraT BT AT BT AR AT 2000 5000
VoA BT AT Z7 T PE X S AT E b 3000 8000
ParAT BT AT BT IEM AT 3000 10000
V54T BTAT BT R AT ENVE 4000 10000
VyNsraT BRTT Bt AT E N E 6000 16000
P9I AT BT AT BRI IATEN 4000 10000
VoA BT AT BT AT 2000 8000
VoA LI AT 27 BE R R AT 4500 5500
V9o r ML AT 2z FINEE AT 4500 5000
VoA HEL AT A2 P bR AT 4000 5000
PNsraT M7 A 22 AL AT 5000 8000
VyNsraT i Atz Hh KRBT AT 5000 8000
oA LI AT 2 VT B SOAT 5000 8000
sy ML AT 22 53 AT BV 5000 8000
VoA ML AT M 1547 5000 8000
PNsraT MEZ AT Azl AT 4500 7000
VyNsraT ML AT M2 8 AT 4500 7000
)i AT AELIMAT A PR AT E S 5000 7000
vaNsrAr AELIMT A2 AR AT B 5000 7000
VyNsraT i 2 KA AT 4500 7000
PNsraT HEMT B E s 4T 3000 12000
VyNsraT HEMT HIEMT 5000 20000
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PNsraT HEMT HEME %34T 3000 12000
VyNsraT AT HEER B AT 3000 12000
VynsraT HEMT HERRE AT 3000 12000
VNsraT EAT BRI AT 3400 13600
Vi sr AT HEMT H R AT 3800 15200
PNsraT HEMT B AT 3000 12000
VyNsraT HEMT HEKITEYAT 3600 14400
VynsraT T FIE AT 1600 6400
VNaraT HEMT Bl S AT 1600 6400
VoA HEMT B3% AT 1600 6400
PNsraT HEMT HEAYT 2400 9600
VoA HIE BLAAT 1600 6400
VynsraT HIEND KT AT 1600 6400
VaNsrT HEMT MCTAT 1600 6400
VoA HEMT LZZRIE AT 1600 6400
PNsraT HEMT EEAT 1600 6400
VyNsraT PR AT 3 BH 22 g AT 0 10000
VynsraT ZRH AT Y PR IE AT 0 11000
VaNsrT FBH AT B e BT AT 0 10000
VoA FERH AT Y BH kg o) B A 0 10000
PNsraT BT GPHEM AT 0 12000
VyNsraT BT 7 BH 22 1E b A PR AL 0 12000
VynsraT ZRH AT Y BH e AR H A 0 12000
VaNsrT FBH AT it Ba%ijmﬁﬁfié& 0 13000
VoA BRH AT BERH AT E 17000 15000
PNsraT BT ﬁﬁﬁr‘iﬂ%}z 0 13000
VyNsraT BT 75 B A B S AT 3000 13000
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PO AT BT P B 2 ST AT L 3000 11000
VyNsraT BB AT PP AR 2 AT ENE = 4000 11000
P AT FEH AT FEPH AR 2 0 2 K AT 0 10000
s r HIim T H ot KAE KiE AT 4000 18000
Vi sr AT HIim T H o R AT 4200 18800
o4 Ho1m T H o147 7000 19000
VoA HIoim T ] TP I AT 4000 18000
oA HIi T i AT 4000 18000
PyNIsrT HI1T H ot K% AT 4000 18000
VoA HIim T E 0T e ¥ AT 4200 18800
o4 Hoim T s AT 4000 18000
VAo AT H AT EeE S R=0 4 4500 19500
VynsraT Hoim AT Hoi R B 24T 4500 19500
V9o r A AT FCHAVE VT AR AR B S AT 10000 25000
VoA A AT AT Bk 3 S 4T 15000 30000
PNsraT AT PRV AT E M = 23000 30000
POoAT JRHR AT JiK IS T 4 B B S AT 12000 25000
PO AT JEHR AT SR AT E 23000 30000
vaNsrAr AR AT SRR M STAT = 10000 25000
VyNsraT AT R R BRI AT 30000 43000
PO AT JRAR AT iR A AR KA S AT 10000 25000
VAo AT JRHR AT SRR Y AT 30000 45000
)i AT JEHR AT SRR B AT = 10000 25000
P9NIsrT AT FREB AR SR 2 Tk [ X AT 12000 25000
Vo AT AR AT JRFEB AR AT B 23000 30000
Va7 JRHAR T SRR TS AT E 10000 25000
AT JRHR AT i8R v A A B 4T 12000 25000
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PaNsrAr JRAR AT SRR AT E 23000 30000
Vo 4T JRHR AT i A AT B 37 AT 10000 25000
P9)NarAT A AT S 4 A R KT AT 12000 25000
PaNsAT AR AT SRR 4 F AT EY 23000 30000
Vo AT AR AT RS 4 STAT 10000 25000
vaorAy JRHR AT J I SR T R AT 10000 25000
VAo AT JRHR AT R R AT 15000 30000
PO AT AR IIAT RN AT E 10000 25000
PaNsrAr AR AT SRR AT Y 12000 28000
Vo AT AR AT T VLS AT B 10000 25000
PaNIsrT AT B R W E R AT 12000 25000
VAo AT JRHR AT R EE AT E 23000 30000
VoA A AT R AR IS Uk T S AT 10000 25000
vaNsrAr AR AT SR Ik 4T b 10000 25000
VyNsraT AT ARV M AT 12000 25000
vy Ay JRHAR T SRR SEAT 28000 42000
POoAT JRHR AT IR AR B AT 10000 25000
)i AT JEHR AT JRERA AT E 15000 30000
vaNsrAr AR AT SRR F I AT EY 10000 25000
Vo AT AR AT JRHSIEIT STAT E = 10000 26000
PaNsrAr JRAR AT R AT E 10000 26000
Vo 4T JRHAR AT SRR S AT 10000 25000
oA A AT RS L T PRI AT 12000 25000
vaNsrAr AR AT B ER T S AT B 23000 30000
VyNsraT AT BB TE SR RS SO AT 12000 25000
Mo AT JRAR AT R R AT 23000 30000
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